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Don’t open the Question Booklet seal before time. Before attempting the papers, the
candidates should make sure that no page or question is missing from the Question Paper.
In case there is any discrepancy, it should be immediately reported to the invigilator incharge
for obtaining a complete Question Paper.
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Answer Sheet and his/her candidature for K-TET - 2012 will be cancelled. The decision of
the Secretary, Pareeksha Bhavan in this regard shall be final.



602

Rough Work




CATEGORY -1I

PART - 2

Malayalam - Question Numbers 91 to 120
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CATEGORY -1I

PART - 2

English - Question Numbers 91 to 120

Question numbers 91 to 96 :

Read the following passage and answer the
questions that follows :

The finding of a Global survey that Indians
take the least care of their eyes is not at all
surprising. It is a reflection of the low level of
awareness about eye health among the people.
This is despite the fact that India has the largest
population of the visually impaired in the world.
The results of the survey conducted by Bausch
+ Lomb should serve as an eye opener. Seventy
percent of Indians do not go in for an eye
checkup unless they have some symptoms of an
eye disease. As a result, the total population of
the blind in India stands a whopping 15 million.
80 percent of the blind in India could have saved
their eyesight if preventive steps were taken in
time. By the time they seek medical remedy, their
eyesight would have been severely impaired.
Take the case of diabetics whose disease, if
uncontrolled, can damage eyes. Few people are
even aware of the fact that the high blood sugar
levels can lead to loss of eye sight. All this means
that a person should undergo periodic eye
checkups whether he has an eye problem or not.
Alas, 58 percent Indians believe that there is no
need for such a check-up.

91. The largest population of the visually
impaired in the world is in :

(A) China

(B) India

(C) Indonesia
(D) Russia
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92.

93.

94.

95.

Majority of the blind in India could have
saved their eyesight :

(A) If they were not aware of diseases

(B) If they have symptoms of an eye
disease

(C) If their eyesight is in great danger

(D) If preventive steps were taken in time

A cause for blindness mentioned in the
passage is :

(A) Low level of awareness about eye
health

(B) Right kind of spectacles worn by
them

(C) Periodic eye checkups by them

(D) Uncontrolled diabetics

Finding of the survey :
A) Indians take least care of their eyes

B

~—"

Indians take much care of their eyes

(
(
(C) Indians wear right kind of spectacles
(

)

) Indians go for regular eye check-ups

The term ‘eye-opener’ here means :
A) An instrument

B

~—"

A window through which to look at

(
(
(C) An agency

(D) Something that teaches new facts

M



96.

The study shows that fifty eight percent
of Indians believe that :

(A) Periodic eye checkup is not necessary
(B) Periodic eye checkup is necessary

(C) Periodic eye checkup damages eyes
(D)

Periodic eye checkup doesn’t do any
good

Question numbers 97 to 120 :

Choose the answer from the options given.

97.

98.

99.

602

The military government is determined to
crush all oppositions.

Replace the word crush.

(A) Put across

(B) Put away
(C) Put down
(D) Put forward

(complete the above sentence)

(A) than it begin to put out the fire

B) than it began to put out the fire
than it had begun to put out the fire

than it had began to put out the fire

Let your book be opened is the passive form
of :

(A) He opened your book
(B)  Your book is opened
(C) Some one opened your book

(D) Opened your book

11

100. He tells me “What an intelligent man you

101.

102.

103.

'//

are!” Can be reported as :

(A) He exclaims that I am a very
intelligent man

(B) He exclaimed that I am a very
intelligent man

(C) He exclaims that I was a very
intelligent man

(D) He told me that I am a very
intelligent man

Everyone was silent ; ?

(A) was he?

(B) were they ?

(C) weren’t they ?

(D) won’t he ?

I did not see the signal. So I did not stop.

Same meaning is conveyed in :

(A) If I saw the signal, I would have
stopped

(B) If I see the signal, I will stop

(C) IfI'had seen the signal,  would have
stopped

(D) If I had seen the signal, I would stop

Bacon is famous for many terse, witty,
pointed statements in his essays. Replace
the underlined word with one word.

(A) Eulogy

(B) Anagrams
(C) Parody
(D) Epigrams



104.

105.

106.

107.
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The chief guest delivered the
address.

(A) inaugurated

(B) inaugural

(C) inauguration

(D) inaugurate

The collector will interview the candidates

9 am and 11 am.

(A) between
(B) from
(C) since
(D) for
Today I school a little late.
(A) had reached
(B) reach
(C) have reached
(D) reaches
Language acquisition takes place
(A) non-consciously
(B) consciously
(C) deliberately
(D) with effort
12

108.

109.

110.

A 6th standard student shows advanced
comprehension power, high expectations
of self, neuromuscular capacity etc. He is
identified as a :

(A) Hyper active child

(B) Gifted child

(C) Child with learning disability
(D) Problematic child

The concept that is NOT related to
intra-personal intelligence is :

(A) Lookinginto one’s own performance

(B) Assessing own presentations

(C) Comparing own expressions with
that of others

(D) Presenting the logic of an argument

In an English classroom collaborative
learning is effective because :

(A) Learners are less motivated

(B) Group members are hesitant to share
ideas

(C) Students have more opportunities for
verbal interactions

(D) The teacher need not take any risk

M
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112.

113.
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Portfolio assessment is appropriate for 114.

English language learners because :
(A) It shows the growth of the learner
(B) It helps the teacher to award scores

C) It helps the learner to get class
p g
promotion

(D) It helps to show the extend of work
done

115.

Which out of the following is NOT an
indicator of a diary note ?

(A) Reflections on important event of the

day
(B)  Self assessment
(C) Expressing emotions

(D) Argumentative in nature

116.

Narratives are used in the English
Curriculum as a :

(A) Reading text only

(B) Strategy for promoting speaking
(C) Strategy for making children write
(D) Pedagogic tool

13

The learner wrote “I speaked to him
yesterday”. The error here is an example
for :

(A) Thematic error
(B) Morphological error
(C) Syntactical error

(D) Aspectual error

The role of the teacher in the modern
context DOES NOT include.

(A) consultant
(B) catalyst
(C) dictator

(D) facilitator

The strategy most suitable for the
differently-abled children in the English
class is :

(A) Repeated instruction
(B) Loud reading
(C) Monthly test

(D) Curriculum adaptation



117. A twelve year old boy reads a lot of novels
during his leisure time :

118.

It is an extended reading activity
It is an extensive reading activity
It is a close reading activity

It is an intensive reading activity

How should a teacher of English at the

elementary level look at learner errors ?

(A)

(B)

Errors need overt correction

Imposition is the best solution to
reduce errors

Errors are part of non-conscious
learning

Errors are to be corrected then and
there

119. When a teacher repeats loudly a learner’s
question :

602

He gives maximum opportunity for
all to think and react

He wants to hide his ignorance

He wants to make fun of the learner
who asked the question

He wants to teacher how to frame
questions

120. When a teacher asks children to draw a
picture after teaching a poem, she
addresses the learner’s :

(A)
(B)
(©)

(D)

14

Linguistic intelligence
Spatial intelligence
Logical intelligence

Inter personal intelligence
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6.  For answering questions, candidates are advised to follow instruction strictly given in the
Question Paper and on the OMR Answer Sheet.

7.  There will be no negative marking.

8.  The candidate must return the Question Booklet and Answer Sheet (OMR Sheet) to the
invigilator before leaving the examination centre. However, student must collect carbon/
duplicate copy of attempted OMR Answer Sheet from Invigilator before leaving the
examination hall.

Don’t rub, erase, cut, fold or overwrite on the OMR Answer Sheets.
Cutting or overwriting in any box provided for answering question will be deemed to be an
incorrect answer.

INSTRUCTIONS FOR FILLING THE OMR (ANSWER SHEET)

(a) USE ONLY DARK BLUE/BLACK BALL POINT PEN for writing and marking the ovals.

(b) To answer questions, dark only one oval ( (A) (© (D)) with black/dark blue ink, which
you consider correct, corresponding to a specific question.

(c) Mark your answer in the appropriate oval against the number corresponding to the question
you are answering, e.g. correct way to mark answer 10 (C) is :

0O @D

(d) The following way of marking should be avoided.

LDBOHED OERD OGBOD| O®O®

(e) If you darken more than one ovals, your answer will be treated as wrong.

(f) Do not put any stray mark anywhere on the OMR (Answer Sheet) other than marking in the
chosen response.

(g) Do not fold, multiple, tear or wrinkle the OMR Answer Sheet.

(h) Don’t use backside of OMR Answer Sheet for rough work.

(i)  Since the sheet will be processed by a machine, write and mark the ovals in the appropriate
space only.

For rough work, use only the pages marked as rough work in the Question Paper Booklet.

Signature of the Candidate Signature of the Invigilator
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